L VCE & PDF https://lwww.geekcert.com/ex0-111.html
' 2024 Latest geekcert EX0-111 PDF and VCE dumps Download
: GeekCert.com

EX0-1119%As

Green IT Citizen

Pass EXIN EX0-111 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/ex0-111.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EXIN
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

EX0-111 PDF Dumps | EX0-111 VCE Dumps | EX0-111 Study Guide 1/3


https://www.geekcert.com/ex0-111.html
https://www.geekcert.com/ex0-111.html
https://www.geekcert.com/ex0-111.html

VCE & PDF https://lwww.geekcert.com/ex0-111.html
2024 Latest geekcert EX0-111 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

What is according to many experts one of the most obvious opportunities for companies to cut costs and achieve green
goals?

A. Exclusive partnerships with vendors and other parties that work according to a green road map. It ensures a
maximum energy waste reduction.

B. Meeting the requirements of an environmental standard (such as IEEE 1680). It will ensure more cost effective
implementation of green goals.

C. Configure power management setting to desktop computers and lowering power consumption by IT substantially

Correct Answer: C

QUESTION 2

What does the operational cost of a printer include?

A. Electrical consumption, ink consumption and service levels

B. Electrical consumption, paper consumption and ink consumption
C. Paper consumption and ink consumption

Correct Answer: A

QUESTION 3

What does influence the cost of electricity?
1.

The cost of fuel and capital

2.

The cost of transmission and local distribution
3.

Regulation

A. All of the above

B.only 1

C.only1and 2

Correct Answer: A
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QUESTION 4

What does sustainable development mean?

A. To create a balance between the demand for timber and the maintenance of the health and biodiversity of the forests
B. To make use of renewable energy in order to reduce greenhouse gas effects

C. To meet the needs of the present without compromising the ability of the future generations to meet their own needs

Correct Answer: C

QUESTION 5

What is a dangerous combination as a result of not enough recycling of IT equipment?

A. Electronic equipment is dumped in the oceans, poisoning the fish population.

B. Outdated computer systems are being kept in service too long, halting technological breakthroughs.
C. Space for landfills is filling up quickly creating a need for additional transportation of waste.

Correct Answer: C
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